
M1

IPI200N25N3

L1

470µ

D1

MBR20100CT

M2

IPI200N25N3

L2

220µ

D2

MBR20100CT

Rser=0.01
V2

400

B3

V=V(drive)

B4

V=V(drive)

C1

2µ

C2

11µ R1

33.33

COMP

FB

Isense

Rt/Ct

GND

Output

Vcc

Vref

U1

LT1243

Rser=0.001
V1

10

R2

4300

C3

18n

C4

2µ2

R3

0.017

R4

1300

C5

470p

B2

V=(V(SENU)-V(SEND))*3

R5

97500

R6

2500

C6

10n

1n

1n

R7

1k

R8

33k

Q1

2N3904

R9

2k

C7

10n

R11

10k

M3

IPI200N25N3

L3

500µ

D3

MBR20100CT

Rser=0.01
V3

400

B1

V=V(drive1)

C8

11µ

R10

33.33

COMP

FB

Isense

Rt/Ct

GND

Output

Vcc

Vref

U2

LT1243

Rser=0.001
V4

10

R12

4300

C9

18n

C10

2µ2

R13

0.017

R14

1300

C11

470p

B5

V=(V(SENU1)-V(SEND1))*3

R15

97500

R16

2500

C12

10n

C13

1n

R17

1k

R18

33k

Q2

2N3904

R19

2k

C14

10n

R20

10k

drive S
E

N
U

S
E

N
D

drive1 S
E

N
U

1

S
E

N
D

1
.tran 0 60m 0 startup

VIN=120VDC to 400VDC

VOUT=100VDC

Pout=300W

Dual cascaded Buck SMPS's

VIN = 120VDC to 400VDC

VOUT = 100VDC

Pout=300W

Single Buck SMPS

 ---  C:\forum\DUAL BUCK IN CASCADE\Buck comparison1.asc  --- 


